Our Moon’s Recession from Our Planet Earth

Scientists worldwide couldn’t be ‘More Wrong’ about what they Believe, Preach, and Teach.
A seventh (7th) paper written 22 Apr 2011 by Russ Kettelson – the 1st person in the world to correctly understand the ‘Force of Gravity’, its’ true Space-time field geometry, thus the true physical nature of its’ force - the 1st person in the world to understand the reason that the ‘Speed of Light’ is precisely the speed that it is - the 1st person in the world to understand the nature of the ‘Gravitational Constant’- the 1st person in the world to tie all three (Gravity, the Speed of Light, and the Gravitational Constant) together both logically and ‘mathematically’ thus showing their ‘direct’ relationship to each other - the 1st person in the world to understand ‘what’ the misinterpreted Big Bang really was - the 1st person in the world to understand the Moon’s Recession from Planet Earth. You must read all my papers to discover the extent to which ‘incompetence reigns’ throughout the worldwide scientific community vis-à-vis those studying our universe while perpetuating community fraud upon fraud.

I have written six (6) previous ‘Papers’ which are available on my website KettelsonConsulting.com - having read these ‘Papers’ it becomes a stark realization that the whole world’s understanding of gravity (and just about everything related to it) is either ‘in part’ wrong (even fraudulent) or ‘completely’ wrong (even fraudulent) as driven by the moronic mindset/s and recklessness of the scientists at the collective helm. 

This paper’s ‘specific’ purpose is to make known the real reason for the rate at which our moon is receding from our planet earth. The scientific community’s hypothesis on the ‘cause’ of the moon’s recession from the earth is just too juicy an ‘arrogant’ screw-up for me to pass up. It is a perfect ‘single’ example of the many, many, screw-ups that they have gifted us – their gifts of arrogant assumption that they inevitably ‘tout’ as discovery or fact. It also ‘just so happens’ that this particular screw-up is well covered in chapter 8 of my book ‘The Theory of Infinity – The End of God’ (a catchy title).

I will clearly show (in this paper) just how wrong scientists (worldwide) are in both their thinking and conduct as tied to their devotion to Einstein’s ‘biggest error’ Space-time Curvature, the century old ‘wrong’ perception of the mechanics thought to manifest/deliver the Force of Gravity. I will, after this paragraph, get right to the point and present both the logic and mathematical framework that will ‘incontrovertibly prove’ the real reason (the what, how, and why) the moon is slowly receding from (slowly moving away from) the earth. I assure all readers that it (the moon’s recession) has absolutely nothing to do with the ‘wrongly instituted’ Space-time Curvature of Einstein, the ‘wrongly instituted’ Gravitational Waves (that in fact do not exist as presented), and the ‘asinine further assumption’ of Oceanic Tides functioning as ‘the hammer’ that (through the ‘fictitious’ Gravitational Waves of false perception) allegedly ‘slowly’ drives the moon from the earth – this is the latest ‘literally laughable’ scientific community offering/conclusion. It is sad just how unscientific, fraudulent, and stupid that scientists are ‘worldwide’. 

First I’ll state it (the real reason for the moon’s recession from the earth), and then I’ll absolutely prove it – greatly embarrassing scientists worldwide, as well earned. Quite simply, the moon’s recession from the earth is directly synchronized ‘to’ (is a direct and exact match ‘to’) the ‘expansion rate’ of the universe. Had just one (1) of the many tens of thousands of scientists ‘worldwide’ simply did the basic math (that I will provide in this paper) they would have (almost four decades ago) determined what I had to determine for them. They would have saved themselves from ‘yet another’ major embarrassment, which I have once again ‘happily’ delivered to their doorstep.


For those readers that have not read my previous papers, a short recap is in order. I have overthrown Einstein’s Space-time Curvature, wrongly thought to ‘be’ the driver of Gravity (see my website’s 1st 31 page Paper and Mathematical Proof on Direct Force Gravity, or better yet, see my 6th shorter 15 page paper entitled ‘Wormholes are for Morons’ inclusive of the same content as in my 1st paper) - this is the big ‘embarrassment’ to the scientific community that all additional embarrassments stem from. I have shown (by association) that ‘Gravitational Waves’ (as they market them) and the ‘Graviton’ do not exist – assumptions devoted to the misguided thinking of Space-time Curvature along with a heavy dose of over-the-top quantum magic. I have debunked (by association) ‘Dark Matter’ and ‘Dark Energy’ – shameful frauds of a default variety, irresponsibly touted as ‘discoveries’ by the worldwide scientific community. They have no shame in twisting things to validate their ‘wrong take’ on Gravity. 

I have done what all scientists (involved in the study of the universe) should have done long ago. I’ve calculated the (empirically/experimentally attained) Gravitational Constant of Isaac Newton (used in all gravitational force calculations) directly from the ‘Speed of Light’ (the other empirically/experimentally attained constant). For the 1st time in history I’ve shown their ‘direct’ mathematical relationship (equality) as per their association to Space-time fabric while scientists everywhere in their ‘economy of effort’ have always thought them to be ‘independent’ constants (not ‘related’ constants) - see my 2nd 3 page Paper and Mathematical Proof on Deriving the Gravitational Constant of Isaac Newton (‘directly’ from the Speed of Light). To this point I have three (3) additional papers of association (making 7 papers total to date) – all available on my website identified on page one (1) of this paper. I have another half-dozen or so papers of ‘embarrassment delivery’ to go – my gift to the misdirected morons that the world’s population (minus me) depends on to decipher the secrets of the universe.  

Before I get to the logic and mathematics clearly showing the truth of our moon’s recession from the earth (whereas I’ll prove that it’s recession is simply synchronized to the universe’s expansion), it is helpful for all readers to understand the ‘extension’ of this reality. Recession is in fact occurring everywhere for all bodies of matter that are tuned to the clockwork of our universe (bodies embraced in orbit etc.) – not to include random direction asteroids etcetera that have been dislodged from orbits (they are just ‘traveling’ within our expanding universe, not necessarily receding ‘in orbit’ from anything, as they more accurately pass ‘things’ by or move toward an inevitable impact/crash with another body. Just as the moon is receding from our earth, all the planets of our solar system are also (very slowly) receding from our sun (to include the asteroid belt) – this is true for all solar systems of all stars (all suns) everywhere, and, all moons that orbit all planets everywhere. 

Everything is in recession from everything else throughout our universe in direct proportion to the expansion of our universe. Even large quantities of stars that comprise galaxies are receding from each other and outward from their galactic centers, most certainly the ‘outer stars’ of spiral galaxy’s everywhere are receding from each other and their galactic centers. This is true because as our universe expands the Space-time fabric throughout ‘it’ is getting less and less dense (weaker and weaker) in its’ self-cohesive strength (self-gravitational strength). Contrary to the false belief and teachings of scientists/teachers/professors worldwide ‘that new space is being created as the universe expands’ and that our universe is not expanding into existing space, I assure all readers that these morons are wrong. New space IS NOT BEING CREATED as our universe expands because our universe IS INDEED EXPANDING INTO the ‘existing’ spatial volume of infinity, increasing infinity’s space-time density as our universe’s density decreases. All that is happening is a ‘Space-time Density Shift’ as muscled by infinity. Space-time fabric ‘is’ in fact diminishing in density/strength/gravity within our universe as our universe is being pulled-apart - increasing ‘spherically’ in size as overpowered by ‘other’ outward surrounding universes and proto-universes (all at different stages of their existence) – these are the present occupants of adjacency now flourishing around our ‘now dying’ (dissolving) universe. And, as per this forced expansion of density transfer, the radiating space-time fields of all matter masses diminish in density/strength, thus their overlapping (compounding) self-cohesive fields (their binding space-time muscles, their shared field’s mutual gravitational force) are proportionally diminished. There was no Big Bang, there however was a Hyper-thermal Inversion, and, to understand ‘this’ you must read my book. To clearly understand the reality of the gravitational force binding all matter, whereas you can attain the mathematical ‘proof’ and logic that ‘incontrovertibly proves’ my monumental correction of Gravity, again, please read my 1st 31 page paper or (better yet) my 6th 15 page paper (available on my website listed on page 1 of this paper). Once all readers grasp the full meaning of my major correction/s to the understanding of our universe, after reading all seven (7) of my papers, nothing will be the same as before – all readers will forever see themselves differently and the world even more differently.

The following logic and math was essentially gleaned from ‘chapter 8’ of my book ‘The theory of Infinity – The End of God’ (a catchy title). I can (with great confidence) state that the results of the logic and math that follow are incontrovertible, though when I originally formulated ‘my mathematical approach’ (years ago) I had no idea that the resultant answer would be so spectacular (in its’ correlation with my belief that the moon’s recession from earth is in exact synchronization with the rate of expansion of our entire universe – readers will soon see that I’ve ‘incontrovertibly’ proven that THE MOON’S RECESSION FROM THE EARTH (in stunning proportional accuracy) ‘EXACTLY’ MATCHES THE EXPANSION OF THE UNIVERSE. 

Presently the worldwide scientific community is feeding both students and the general public (of their trust) the findings of their incompetence, their wild-ass guess that the moon is slowly moving away from earth ‘because’ the spinning earth (with its’ repetitive ocean bulges, its’ repetitious oceanic tides) is slowly pushing the moon away from earth (by way of their ‘delusional’ gravitational waves). What lazy moronic clowns they truly are (these scientists that study our universe) to come up with such ‘imbecilic dung’ and then portray ‘said dung’ on national television and in books as scientifically ‘sound’ – to the point of proclaiming their conclusions as ‘proved fact’.

Now I will walk all readers through the impeccable math and logic that incontrovertibly proves that the moon’s recession (outward movement) from the earth is in full synchronization with (thus exactly proportionally matches) the expansion rate of our universe. And shame on all scientists for not investigating this most obvious probability – instead opting for wild-ass guessing. Shame on them – profoundly embarrassed they all ‘once again’ are about to be – it’s no wonder that they hide from me.

I have set-up my basic mathematical calculations into five (5) stages:

1st are my ‘R1’ thru ‘R8’ reference metrics (in blue text), where I list all my ‘already established’ metrics (all incorporated measurement data established by others) – all of which I have absolutely proven to be correct at various steps within my below listed ‘A’ thru ‘G’ calculation stages. I verify all these reference metrics employed as ‘correct’ to a very impressive 99.7% accuracy relative to NASA’s estimate of our universe’s age.  

2nd are my ‘A1’ thru ‘A3’ calculations, where I ‘ultimately’ determine the ‘miles per year’ that the galaxies of our universe are ‘presently’ moving apart (less acceleration).

3rd are my ‘B1’ thru ‘B3’ calculations, where I ‘ultimately’ determine the light years of expansion ‘between’ galaxies since our moon’s birth/formation (less acceleration). 

 4th are my ‘C1’ thru ‘C4’ calculations, where I ‘ultimately’ determine the ‘portion’ of a mile that the moon has receded from the earth during the past 42 years of ‘laser measurement’  (less acceleration). 

5th are my ‘D1’ thru ‘D3’ calculations, where I ‘ultimately’ determine the average distance per year that the moon moves away from (recedes from) the earth (less acceleration).

6th are my ‘E1’ thru ‘E3’ calculations, where I ‘ultimately’ determine the over-all ‘Acceleration Rate’ over the full lifespan of our universe’s expansion, and, the corrected distance in inches per year that the moon is receding from the earth (with my calculated acceleration rate included). It’s amazing how close my calculation comes to the ‘below’ stated (laser measured 1.5 inches of outward recession a year of the moon from the earth.

7th are my ‘F1’ thru ‘F2’ calculations, where I ‘ultimately’ determine the ‘mean’ distance in miles that the moon was from the earth at the time of the moon’s formation. 
8th are my ‘G1’ thru ‘G7’ calculations, where I ‘ultimately’ verify (all) the many claims, parameters, and metrics of this paper.

Keep these two (2) important facts in mind for their stark contribution to the validation of what this paper concludes. Fact 1) for the past 42 years scientists have been laser measuring the distance at which the moon has been moving away from the earth, averaging 1.5 inches of outward recession per year. Fact 2) NASA, recently by way of its’ WMAP (Wilkinson Microwave Anisotropy Probe) Satellite, has determined the age of our universe to be 13.75 billion years old. By this paper’s end I, ‘independently’ with completely different criterion and methodology, will verify NASA’s 13.75 billion year estimate in spectacular fashion - simply by the use of basic math whereas I accurately ‘proportionally pivot’ off our moon’s recession from the earth and prove that the moon’s recession is in exact synchronization with the expansion of our universe - WOW. 

And away we go – NOW.

‘R1’ reference metric: Our solar system (with our planet earth as a member of it) was born 4,567,000,000 years ago (4.567 billion years ago) – a lifespan estimate which I have used in my calculations (to be discussed at this paper’s end). Our moon is estimated to have been born 40,000,000 years (40 million years) after our solar system and our earth. 

‘R2’ reference metric: The present estimated ‘statistical average’ galaxy-to-galaxy distance is 1,000,000 light years (1 million light years ‘spread’ distance) throughout our universe, a distance whereas it takes light 1,000,000 light years to travel (traveling at 186,282.3994 miles a second). Following is my extrapolated breakdown estimate. This conveniently uncomplicated large ‘even-number’ distance of 1,000,000 light years was backed-out from another ‘even larger’ estimate. This one million light year distance (which will be ‘solidly verified’ by this paper’s end) originated from a statistic in Terence Dickinson’s book ‘The Universe and Beyond’ whereas he stated that “there is one galaxy for every million trillion cubic light years of space” – he offered this in the context of (in referring to) the universe at large. This ‘million trillion’ cubic light years of spatial volume (‘statistically’ assigned to each galaxy) is just another way to say ‘one quintillion’ cubic light years of spatial volume (assigned to each galaxy), which when broken down to a raw ‘statistical average’ distance ‘between’ galaxies equals 1,000,000 light years distance. The cubed root result of this given quantity of average cubic light years of spatial volume (‘statistically’ assigned to each galaxy) equals a resultant ‘statistical’ quantity of light years of distance spanning ‘between’ galaxies. So the cubed root of one million trillion cubic light years of spatial volume (‘statistically’ assigned to each galaxy) equals 1,000,000 light years distance ‘statistically’ spanning ‘between’ all galaxies (to be discussed at this paper’s end). 

‘R3’ reference metric: NASA’s most recent estimate of the age of the universe is 13,750,000,000 years old (13.75 billion years old) with an age tolerance of plus/minus 110,000,000 years (plus/minus 110 million years). This latest age estimate was determined as per the data collected by its’ WMAP satellite and other probes (to be discussed at this paper’s end).

‘R4’ reference metric: When we convert the ‘above’ immense light year ‘statistical’ distance of ‘R2’ to the much smaller increment of ‘inches’ we get 3.72523 inches, a much more immense number representing the present ‘statistical’ average distance ‘between’ all galaxies - 1,000,000 light years x 3.72517 the light year to inches conversion factor = 3.72523 inches (the present ‘statistical’ average distance ‘between’ all galaxies).

‘R5’ reference metric: NASA’s astronauts placed ‘mirrors’ on the moon 42 years ago. Since then our scientists have ‘laser beam’ measured the moon’s distance from earth for those same 42 years at equal times in each year. The distance that the moon is moving away from the earth is measured at approx. 1.5 inches per year - I could not attain the exact measurements, so this ballpark ‘approximation’ must do. So for the past 42 years the moon has receded from earth a total of 63 inches (42 years x 1.5 inches = 63 inches), this distance of course being inclusive of the (yet-to-be determined) ‘Acceleration Rate’ of the moon’s recession from earth (which I will also prove ‘is’ the over-all ‘Acceleration Rate’ of the expansion of our universe).
‘R6’ reference metric: NASA’s ‘mean’ laser beam measurement from the earth to the moon is 238,855 miles (I was not able to get a ‘finer’ measurement), or, converting to inches 238,855 miles x 5,280 feet x 12 inches = 1.5133852810 inches (the present ‘mean’ distance from the earth to the moon).
‘R7’ reference metric: The ‘Hubble Constant’ by definition states that for every 3,300,000 light years distance (3.3 million light years distance) that a galaxy ‘is away’ from us ‘it’ is moving away at 70 kilometers per second.

‘R8’ reference metric: Our ‘Milky Way’ galaxy (a spinning ‘spiral galaxy’) is presently 100,000 light years across (one hundred thousand light years across) and it rotates approximately once every 250,000,000 years (once every 250 million years) – I use these facts for perspective purposes only (to be discussed at this paper’s end). 

Following are my ‘A1’ thru ‘A3’ Calculations: where I ‘ultimately’ determine the ‘statistical’ miles per year that the galaxies of our universe are ‘presently’ moving apart (before factoring in acceleration).
‘A1’ Calculation: Where I determine the ‘Adjusted Hubble Constant’ to proportionally mathematically calculate relative to the present ‘statistical average’ distance spanning ‘between’ all galaxies. I divide the 1,000,000 light years distance of ‘R2’ (the present ‘statistical average’ galaxy-to-galaxy distance) by the 3,300,000 light years distance of ‘R7’ (the ‘Hubble Constant’ distance at which a galaxy is moving away from us at 70 kilometers a second) – I get .303030303, our effective ratio factor of conversion. 

‘A2’ Calculation: I take 70 kilometers a second (the ‘Hubble Constant’ speed per second of ‘R7’) and multiply it by .303030303 (our calculated effective ratio factor of conversion, of ‘A1’) – I get the calculated ‘Adjusted Hubble Constant’, 21.21212121 kilometers per second, the speed at which galaxies are moving away from each other at their present ‘statistical average’ galaxy-to-galaxy separation distance (before factoring in acceleration). 
‘A3’ Calculation: Here I convert the calculated 21.21212121 kilometers per second (our calculated ‘Adjusted Hubble Constant’ of ‘A2’) to miles per second. I take the 21.21212121 kilometers per second and multiply it by .6213712 (the mathematical conversion factor for converting kilometers to miles) - and I get 13.18060121 miles per second (my calculated ‘Adjusted Hubble Constant’ in miles per second), the ‘statistical average’ speed (in miles per second) that galaxies are moving apart (before factoring in acceleration). 
‘A4’ Calculation: Where I calculate/convert the ‘statistical average’ speed from the (above calculated ‘A3’) miles per second that galaxies are moving apart ‘to’ the miles per year that galaxies are moving apart. I take the calculated 13.18060121 miles per second (of ‘A3’) and multiply it by 3,600 seconds an hour, then by 24 hours a day, and then by 365 days a year – I get 415,663,439.8 miles a year that galaxies are presently moving apart (before factoring in acceleration).

Following are my ‘B1’ thru ‘B4’ Calculations: Where I ‘ultimately’ determine the light years of expansion ‘between’ galaxies since our moon’s birth/formation (before factoring in acceleration).

‘B1’ Calculation: I take the age of our solar system ‘inclusive’ of our planet earth, the 4,567,000,000 years (4.567 billion years) of ‘R1’ and subtract the 40,000,000 years (40 million years) time (also of ‘R1’) that passed ‘before’ our moon was formed (after our solar system and earth) – and I get 4,527,000,000 years (4.567 billion years) duration, the time that has passed since our moon’s formation to this present day (our moon’s age).

‘B2’ Calculation: I now take the 4,527,000,000 years (4.527 billion years) duration (of ‘B1’) the time that has passed since our moon’s formation ‘to’ this present day, and, I divide it by NASA’s most recent estimate of the age of the universe of ‘R3’ which is 13,750,000,000 years (13.75 billion years) – I get .329236363 (or 32.9236363%), the calculated proportional ratio factor of our moon’s lifespan (to this very day) compared to our universe’s lifespan.
‘B3’ Calculation: I take the 415,663,439.8 miles a year of ‘A4’ that galaxies are presently moving apart, then I multiply it by the age of our moon of ‘B1’ which is 4,527,000,000 years – I get 1.88170839218 miles expansion of our universe since the formation of our moon (before factoring in acceleration).

‘B4’ Calculation: I take the 1.88170839218 miles of expansion of ‘B3’ which is our universe’s expansion since the formation of our moon and I multiply it by 1.701-13 (the mathematical conversion factor for converting miles to light years) – I get 320,078.5975 light years of expansion ‘between’ galaxies since the birth/formation of our moon (before factoring in acceleration).

Following are my ‘C1’ thru ‘C5’ Calculations: Where I ‘ultimately’ determine the ‘portion’ of a mile that the moon has receded from the earth during the past 42 years of ‘laser measurement’ (before factoring in acceleration). 
‘C1’ Calculation: I take the 320,078.5975 light years expansion of ‘B4’ which is our universe’s expansion ‘between’ galaxies since the formation of our moon and I divide it by 1,000,000 light years (the present galaxy-to-galaxy ‘statistical average’ distance spread of ‘R2’) – and I get .320078597 the proportional ratio factor of our solar system’s expansion (during our moon’s lifespan) vs. our universe’s expansion (throughout its’ lifespan). For now I am assuming that they are exactly ‘proportionally’ in synchronization – by this paper’s end all readers will know that I am ‘dead write’ in this never investigated assumption. This is the whole point of this paper – the truth of the moon’s recession from earth, and, the shameful laziness of the scientific community.

‘C2’ Calculation: I now take NASA’s latest ‘mean’ measurement from the earth to the moon which is the 238,855 miles of ‘R6’ and multiply it by .320078597 (the proportional ratio factor of ‘C1’) our solar system’s expansion as proportional to our universe’s expansion (during our moon’s lifespan) – I get 76,452.37329 miles that our moon has receded from our earth since our moon’s formation (before factoring in acceleration).

‘C3’ Calculation:  to get the moon’s  ‘mean’ distance from the earth at the time of our moon’s formation, I take the present 238,855 miles of ‘R6’ (NASA’s latest ‘mean’ measurement from the earth to the moon) and I subtract the 76,452.37329 miles of ‘C2’ (the miles that our moon has receded from our earth since our moon’s formation) – and I get 162,402.6267 miles that the moon was away from the earth at the time of the moon’s formation (before factoring in acceleration). 

‘C4’ Calculation: Now I take the 42 years of ‘R5’ (the 42 years we’ve laser measured the moon’s recession from earth) and I divide it by the 4,527,000,000 years of ‘B1’ (the age of our moon) – I get 9.2776667329-09, the proportional ratio factor for the 42 years of laser measurement vs. the age of our moon. 

‘C5’ Calculation: Now I again take the 76,452.37329 miles (of ‘C2’) that our moon has receded from our earth since the birth (formation) of our moon and I multiply it by 9.2776667329-09 the proportional ratio factor of ‘C4’ (the calculated factor that represents the 42 years of laser measurement vs. the age of our moon) – I get 7.092996867-04 miles, the ‘portion’ of a mile that the moon has receded from the earth during the past 42 years of ‘laser measurement’, as established in ‘R5’ (before factoring in acceleration). 
Following are my ‘D1’ thru ‘D3’ Calculations: Where I ‘ultimately’ determine the average distance per year that the moon moves away from (recedes from) the earth (before factoring in acceleration).

‘D1’ Calculation: Now I must divide 1.5133852810 inches (the present ‘mean’ distance from the earth to the moon, that of ‘R6’) by 3.72523 inches (the present ‘statistical’ average distance ‘between’ all galaxies, that of ‘R4’ – and I get 4.062779275-14 the small decimal proportional value that the present earth to moon distance of 1.5133852810 inches ‘is’ in comparison ‘to’ the 3.72523 inches (the present ‘statistical’ average distance ‘between’ all galaxies, that of ‘R4’ (before factoring in acceleration).
‘D2’ Calculation: To get the ‘average distance’ that our universe has expanded each year during its’ (‘R3’) 13.75 billion year lifetime I divide 3.72523 inches (the present ‘statistical’ average distance ‘between’ all galaxies) by 13,750,000,000 years (the age of our universe of ‘R3’) – I get 2.70909090913 inches. 

‘D3’ Calculation: Now I take the 2.70909090913 inches, the ‘average distance’ (of ‘D2’) that our universe has expanded each year during its’ 13.75 billion year lifetime, and I multiply it by 4.062779275-14 the small decimal proportional value of ‘D1’ – and I get 1.10064384 inches, the average distance per year that the moon moves away from (recedes from) the earth. Remember that I’m still assuming ‘for now’ that the moon’s recession from earth is in sync with the universe’s expansion (we are still ‘less’ acceleration which is finally going to be incorporated, next).
Following are my ‘E1’ thru ‘E2’ Calculations: Where I ‘ultimately’ determine the over-all ‘Acceleration Rate’ over the full lifespan of our universe’s expansion, and, the corrected distance in inches per year that the moon is receding from the earth (finally, with my calculated acceleration rate included).
.

‘E1’ Calculation: Now I take the 7.092996867-04 miles of ‘C4’ (the portion of a mile that the moon has receded from the earth during the past 42 years of ‘laser measurement’, and, I multiply it by 63,360 (the number of inches in a mile) – I get 44.94122815 inches, the total number of inches that the moon has receded from the earth during the past 42 years of ‘laser measurement’ (that of ‘R5’).
‘E2’ Calculation: Now I take the 63 inches of ‘R5’ (the total ‘laser measured’ number of inches that the moon has receded from the earth over the past 42 years) and I divide it by the 44.94122815 inches of ‘E1’ (the ‘calculated’ total number of inches that the moon has receded from the earth during the past 42 years of ‘laser measurement’, as established in ‘R5’) – and I get 1.401830849, the ‘Acceleration Rate’ of our moon’s recession from the earth (and the acceleration rate of the expansion of our universe, which I will ‘from here on out’ prove to be true ‘beyond all doubt’).
‘E3’ Calculation: Now I take the 1.10064384 inches (of ‘D3’), the average distance per year that the moon moves away from (recedes from) the earth and I multiply it by the 1.401830849 ‘Acceleration Rate’ of ‘E2’ – and I get 1.542916489 inches, the corrected distance per year that the moon is receding from the earth (with my ‘Acceleration Rate’ included). I’ll discuss this 1.542916489 inches at this paper’s end.
Following are my ‘F1’ and ‘F2’ Calculations: These ‘F’ calculations are not as important as the prior ‘A’ thru ‘E’ Calculations of determination, and, the final (soon to follow) ‘F’ Calculations of verification of all my ‘R’ reference metrics and my calculated 1.401830849 ‘Acceleration Rate’ of ‘E2’, (the overall ‘acceleration rate’ of our universe’s expansion). However these immediately following ‘F’ Calculations do provide additional data on the moon’s relative position at the time of its’ formation, further showing scientists as ‘dead wrong’ in the computer model ‘tale’ that they have spun). Scientists are incorrectly saying that the moon was a ‘ridiculous’ 14,000 to 17,000 miles away from the earth at the time of the moon’s ‘accretion’ formation, whereas just shortly after the earth’s formation the earth was impacted by a passer-by proto planet thus dislodging earth debris which then accreted (gathered together) over time to become our moon. The impact and accretion theory I suspect is correct, but the computer modeling data (the size, speed, direction, and the directness of impact of the impacting proto-planet ‘hitting our earth’ thus giving them that ‘ridiculous’ distance of 14,000 to 17,000 miles) was either all or in part wrong. A computer model is only as good as the data imputed.

‘F1’ Calculation: To include the ‘acceleration rate’ of our universe’s expansion and thereby recalibrate (thereby update/correct ‘C2’) to the ‘actual/correct position’ of the moon at the time of its’ formation (some 40 million years after the formation of our solar system along with the earth). I take the 76,452.37329 miles (of my ‘C2’ calculation not yet including acceleration) that our moon has receded from our earth since its’ formation just after the birth (formation) of our solar system (thus also earth) and 1 multiply it by 1.401830849 (of ‘E2’) the ‘Acceleration Rate’ of our moon’s recession from the earth (and also the ‘acceleration rate’ of the overall expansion of our universe, which I will ‘soon’ prove to be true ‘beyond all doubt’) – I get the correction of 107,173.2954 miles that our moon has receded from our earth since the moon’s formation.

‘F2’ Calculation: When I take the 107,173.2954 miles of ‘F1’ (the miles that our moon has receded from our earth since the moon’s formation) and I subtract it from the 238,855 miles (of ‘R8’) NASA’s present ‘mean’ measurement to the moon – I get 131,681.7046 miles, the ‘mean’ distance that the moon was from the earth at the time of the moon’s formation. 
Soon to follow are my ‘G1’ thru ‘G7’ Calculations: Where I ‘ultimately’ verify the correctness and accuracy of all my ‘R’ reference metrics and the calculated 1.401830849 ‘Acceleration Rate’ of ‘E2’ used to ‘calculated’ the total number of inches that the moon has receded from the earth during the past 42 years of ‘laser measurement’, and, where I also verify that the very same 1.401830849 ‘Acceleration Rate’ of ‘E2’ also applies to the overall expansion of our universe, and finally I verify the below six (6) major claims. 

It’s time to clarify and verify the point of ‘all’ my prior math with even more math.

At the end of the following ‘G’ calculations I assert that I will have proved and verified:

1. The age and accuracy of the age of our universe

2. The size and accuracy of the size of our universe – with respect to the present ‘statistical average’ galaxy-to-galaxy distance of separation.

3. The age and accuracy of the age of our earth, moon, and solar system.

At the end of the following ‘G’ calculations I also assert that I will have established:

4.   The distance the moon was at the time of its’ formation.

5. The actual overall 1.401830849 ‘Acceleration Rate’ of our universe’s expansion.

6. That the moon is receding from the earth in direct proportion (in direct synchronization) with the universe’s accelerated expansion – and by extension so also is the earth receding from the sun, as also do all planets orbiting all stars receding from said stars.

By precise mathematical ‘back’ extrapolation I am about to prove (beyond any doubt) that my main point of prior assumption is ‘in fact’ TRUE, that the recession of the moon from the earth exactly ‘proportionally’ matches the accelerated expansion of the universe – and by extension I am about to prove that all planets orbiting all stars etc. are receding from said stars throughout the universe. Of course I already know that this commonality of recession is true because I did this math about six (6) years ago when I wrote my 1st book; ‘The theory of Infinity, the end of God’.

So given that all galaxies are now spaced at a ‘statistical average’ distance of approximately 1,000,000 light years (the estimate of ‘R2’), I should end up with a final answer somewhere around this 1,000,000 light years (that of ‘R2’). After breaking our universe’s lifetime of 13.75 billion years (that of ‘R3’) into four (4) total segments of time (proportioned to the lifetime of our moon) and then infusing by ‘back-extrapolation’ my 1.401830849 ‘Acceleration Rate’ of ‘E2’ in reverse, I will then end up with four segments of light year distances inclusive of my 1.401830849 ‘Acceleration Rate’ of ‘E2’. I will then add the four (4) ‘distance’ segments together to hopefully result in an answer whereas our universe’s galaxy-to-galaxy ‘statistical average’ distance of separation is approximately 1,000,000 light years (that of ‘R2’). In this ‘following’ effort all readers will see that I was very successful. 

As I’ve just stated, going backwards in time I will break the universe’s long duration of existence into three (3) periods of ‘like’ time each equal to our moon’s lifetime of 4.527 billion years (or 4,527,000,000 years) of ‘B1’, and, one (1) much smaller period of time 0.169 billion years (or 169,000,000 years) representing the ‘origin’ period of time of our universe. 4.527 billion + 4.527 billion + 4.527 billion + 0.169 billion (the ‘origin’ period of time needed to exactly) = 13.75 billion years, that of ‘R3’, the present age of our universe.   

‘G1’ Calculation: First I must ‘correct’ our universe’s expansion distance for this most recent 4.527 billion year period representing the (to date) lifespan of our moon. I multiply 320,078.5975 light years expansion distance of our universe during the life of our moon (that of my ‘B4’ calculation which has ‘no’ acceleration rate/factor included) and I multiply it by the 1.401830849 ‘Acceleration Rate’ of ‘E2’ which = 448,696.0521 light years of distance (acceleration included) that our universe has expanded (light years that the ‘statistical average’ galaxy-to-galaxy distance has increased) during the lifetime of our moon.  

‘G2’ Calculation: Second I must ‘back’ calculate (back extrapolate) our universe’s expansion distance for the 4.527 billion year period ‘prior’ to the most recent one of ‘G1’. I take the 448,696.0521 light years of distance of ‘G1’ (representing the expansion distance during our moon’s life) and I divide it by 1.401830849 the ‘Acceleration Rate’ of our universe’s expansion (that of ‘E2’) – and I get a ‘back’ extrapolated 320,078.5975 light years distance representing this period in reverse (in contraction). 

‘G3’ Calculation: Third I must ‘back’ calculate (back extrapolate) our universe’s expansion distance for the 4.527 billion year period ‘prior’ to the ‘second most recent one’ of ‘G2’. I take the resultant 320,078.5975 light years of distance (that of ‘G2’) and I divide it by 1.401830849 the ‘Acceleration Rate’ of our universe’s expansion (that of ‘E2’) – and I get a ‘back’ extrapolated 228,338.9726 light years of distance representing ‘this’ period in reverse (in contraction).

‘G4’ Calculation: Fourth I must ‘back’ calculate (back extrapolate) our universe’s expansion distance for the ‘origin’ period of time of our universe. We must take the 0.169 billion years of ‘prior mention’ (near the top of ‘this’ page) and divide it by the 4.527 billion years (of the other three ‘like’ periods of time) to get the proportional ratio of period parity factor for this much shorter ‘origin’ period of time – and I get 0.037331566, the proportional ratio of period parity.

‘G5’ Calculation: Fifth I must continue our ‘back’ calculation (back extrapolation) of our universe’s expansion distance for the ‘origin’ period of time of our universe. I take the resultant 228,338.9726 light years of distance (that of ‘G3’) and I divide it by 1.401830849 the ‘Acceleration Rate’ of our universe’s expansion (that of ‘E2’) – and I get 162,886.2518 ‘pre-curser’ light years of distance representing this much shorter ‘origin’ period of time in reverse (in contraction).

‘G6’ Calculation: Sixth I must proportionally correct the ‘back’ calculation (back extrapolation) of ‘G5’. I must take the 162,886.2518 ‘pre-curser’ light years of distance (that of ‘G5’) representing this much shorter ‘origin’ period of time in reverse (in contraction) and multiply it by 0.037331566, the proportional ratio of period parity (of ‘G4’) – and I finally get 6,080.798858 light years of distance representing this much shorter ‘origin’ period of time in reverse (in contraction).

‘G7’ Calculation: Finally I must perform the most basic task in math, I add all four of the time period ‘light year’ distances of ‘back’ extrapolation (back contraction) together. Going forward ‘in time’ starting at the birth of our universe (starting from the singularity of origin), for this paper’s six (6) major assertions (bottom of page 10 and top of page 11) to be correct, using NASA’s estimate that the universe is 13,750,000,000 years old (13.75 billion years old) we must end up with a universe with a present approximate size of 1,000,000 light years (the estimate of ‘R2’).

G6’s 6,080.798858 light years (at the birth of our universe) + G3’s 228,338.9726 light years (going forward) + G2’s 320,078.5975 light years (going forward) + G1’s 448,696.0521 light years (bringing us to the present day) = 1,003,194.4210 light years distance (my calculated expansion of our universe over its’ 13.75 billion year lifetime at my calculated 1.401830849 ‘Acceleration Rate’ of ‘E2’).

I believe that I have nailed it. 

Comment #1: My ‘directly calculated’ 1,003,194.4210 light years distance of my above ‘G7’ (my calculated present time ‘statistical average’ galaxy-to-galaxy distance of separation) is better than 99.6816% in agreement with the estimated 1,000,000 light years distance of ‘R2’ (I’m off by ‘less than’ one third of 1%) - as ‘directly’ tied to the 13.75 billion year lifetime estimate of NASA (that of ‘R3’) and as driven by my (historic) ‘directly calculated’ 1.401830849 ‘Acceleration Rate’ (that of ‘E2’) representing both our universe’s expansion rate and our moon’s recession rate from earth. Considering that this paper is keyed to ‘many other’ estimates (established by other institutions), it is clear that being off by ‘less than’ one third of 1% from the estimated 1,000,000 light years distance of ‘R2’, our moon ‘does indeed’ recede from our earth in direct synchronization to my calculated ‘accelerated expansion’ of our universe. All readers can’t help but see that this paper is both flawless and incontrovertible in this (my) conclusion. And even though factors (parameters/estimates) that drive much of my mathematics are ‘established’ by other institutions (this all given) I believe that I have corrected/updated one of them - the 1,000,000 light years distance of ‘R2’ has been corrected to my ‘directly calculated’ 1,003,194.4210 light years distance of ‘G7’. 

Comment #2: My ‘directly calculated’ 1.542916489 inch distance of ‘E3’ (my ‘calculated‘ distance in inches per year that the moon is receding from the earth) is better than 97.2185% in agreement with NASA’s 1.5 inches of ‘R5’, NASA’s average increment of ‘laser’ measurement in measuring the moon’s recession from earth. My 1.542916489 inches (as calculated) x 42 years = 64.80249254 total inches. NASA’s 1.5 inches (as ‘laser measured) x 42 years = 63 total inches. NASA’s 63 total inches (as ‘laser measured’) divided by my 64.80249254 total inches (as calculated) = 97.2185%.  Here my calculation is only off by 2.7815%. Even though this 2.7815% variance ‘appears’ less impressive than the one third of 1% variance of Comment #1, I believe it is ‘in fact’ just as impressive when readers consider the following three (3) issues.

· The .042916489 inches disparity in distance between NASA’s ‘laser’ measured 1.5 inch yearly recession ‘of’ the moon ‘from’ earth being based on human skill and technological capability, and, my ‘mathematically’ calculated 1.542916489 inches yearly recession of the moon from earth being based on immutable math - but shackled with the non-exactness of ‘estimate dependency’.

· The .042916489 inches disparity represents only 1.418 trillionths of the round trip’s ‘total distance’ to the moon and back (477,710 miles or 3.0267705610 inches), and, also represents only 1.818 trillionths of the 2.564 seconds of ‘earth to moon and back’ laser beam travel – my point being that the ‘time sensing’ start/stop trigger technology accuracy is at its’ fuzzy limits, and, that it is a definite possibility that my ‘calculated’ 1.542916489 inches of yearly moon recession from earth is ‘more correct’ than NASA’s 1.5 inch ‘laser’ measurement.

· The .042916489 inches disparity ‘itself’ is in question – the reason for this is that I was unable to attain NASA’s precise ‘laser’ measurements. I had to live with NASA’s 1.5 inch yearly average approximation of our moon’s recession – for all I know the precise NASA average may be much closer to my 1.542916489 inches.

Bottom line – The mathematics of this paper proves ‘without question’ that the moon recedes from earth as synchronized to our universe’s expansion to the 99.6816% certainty of above Comment #1 and to the 97.2185% certainty of above Comment #2.
Now, I’ll end with a few ‘damn important’ points:

I don’t suppose that my hostility toward scientists has escaped the attention of the readers of this paper. My hostility is simple - they gave ‘it’ (their nastiness and resentful hostility) to me for years, so when I saw that it would never stop, I started to give ‘it’ back to them (unlike me they deserve it).

Everything of basic importance, including the startling revelations of this paper, has escaped the collective ‘knowledge’ of the scientific community - those countless thousands of ‘inept’ scientists involved in the study of our universe. They are literally morons (based on what they DO NOT KNOW and they have NO excuses). 

Over many years, after discovering the True Nature of Gravity, I naively began to write scientists/professors etc. (thinking they would be ‘supportive’ of such a major discovery, especially one that is so ‘incontrovertibly correct’ and ‘inescapable’). But to my great surprise and disappointment I A) only received a small number of replies, and, B) those replies were all ‘very hostile’. In all (over the years) I wrote over a thousand scientists worldwide and continued to get nothing but hostile replies. 

For all readers that logically believe that scientists only care about the ‘factual truth’ of things, and that they don’t care about the source of the ‘factual truth’ of things (as scientists have always sold us), a rude awakening is in order. They all lie about this projected attitude – something that greatly pissed me off. They do indeed care about the ‘source’ of a discovery ‘especially’ when it is not from one of ‘them’ of higher formal education. They cringe at the thought of someone like ‘me’ a lowly high school graduate – though one of further self-education in engineering, leading myself to positions of upper management in engineering. They cringe even more at someone of self-education in astrophysics and the related sciences (that would be me) that ‘corrects’ the worldwide scientific community on the ‘very basics’ of their accepted/established dogma.

That is who I am, a self-taught engineer (of a 40 plus year career) and a ‘hobbyist’ scientist with decades of study in astrophysics (the processes of the universe), quantum physics (the study of atomic structure), and cosmology (the history of our universe). Having not graduated from a higher-education university with degrees in hand, how dare ‘I’ play on their ball-field? Even though I’m also ‘out-of-the-box’ more intelligent than the vast majority of scientists, packing a 143 I.Q., I’m still (with major discoveries in hand) ‘shunned’ by the scientific community of egocentric self-righteous insanity.

Who I am is just to painful ‘ego-wise’ for scientists to bear. Scientists worldwide ‘simply’ can’t be corrected by a person of my lowly stature (as they see it), regardless of the truth and in spite of the truth – truth be dammed. After hearing from me scientists side with saving their collective ass, they side with saving their reputations, they side with avoiding major embarrassment and chaos in all of their careers – but they do so at the cost and their ‘integrity’ and ‘factual truth’, the whole purpose of their existence being truth. Having received the harsh reality (from me) about all the boilerplate dogma that they have spun over a century of irresponsible conduct whereas wrong ‘assumptions’ and self-aggrandizing false discoveries have been celebrated, I am the great spoiler.

Everything stems from the scientific community’s full century of failure to understand Gravity, including my hero Einstein. All scientists are ‘stupendously WRONG’ about the Force of Gravity, the truth of which I have delivered to their doorstep (along with many other ‘related’ truths). These truths are embarrassing as hell to the careers of scientists, but even so, to hide them (ignore them) is unforgivable. 

So yes, scientists worldwide have shown their character – characters with integrity of non-existence. These are self-centered gutless individuals of ‘zero’ integrity that have forever slapped each other on the backs each time they have ‘fabricated’ a piece to their ‘false puzzle’ of self-gratifying ‘unscientific’ make-up, all the while being profoundly wrong about ‘just about everything’ that they think, teach, and preach. This is the resented ‘situation’ that these alleged scientists are suddenly faced with, as per the bomb that I delivered, as per their realization that ‘once my discoveries are public’ they are going to be the subject matter of jokes. The big thing that they have missed (being way worse than becoming the but-end of jokes) is that they (by way of ignoring my discoveries about Gravity) have shown their ‘unacceptable’ character.

Here is the reality -------

Because scientists ‘everywhere’ absolutely DO NOT UNDERSTAND GRAVITY they ‘make shit up’ to make sense of their ‘false’ understanding of Gravity.

Scientists have ‘made-up’ DARK ENERGY because they have (long-ago) misinterpreted the nature of what they call the Big Bang – thinking that the universe ‘exploded’ into expansion when ‘in fact’ a gestating ‘collapsing’ pre-universe of unknown (but small) super-dense space-time volume ‘hyper-Inverted’ as per a final space-time volume collapse along with a countering thermal increase which ‘disabled’ the gravity at its center. The universe then immediately began to expand as ‘pulled apart’ by the surrounding space-time fields of the components of outward infinity – ‘other’ gestating universes and ‘other’ expanding universes at various stages of their lifecycles. Scientists ‘stupidly’ think that the universe ‘exploded’ into existence from a ‘point size’ particle or ‘singularity’ that magically appeared from nowhere. They know that with explosions, things slow down. But since our universe’s birth it has been accelerating (speeding up) in its’ expansion – An expansion rate that I have calculated and proven in this paper. Therefore scientists have surmised that there must be an inexplicable ‘Energy’ driving our universe’s expansion. So they fraudulently made up ‘Dark Energy’ a conjured magical energy that just ‘ever-so-slightly’ overcomes Gravity driving our universe’s accelerated expansion – what unethical morons these scientists truly are.            

Scientists have ‘made-up’ DARK MATTER because they have long ago misinterpreted the nature and geometric reality of Gravity. They just don’t get it (never have). Their calculations lead them to believe that our universe is ‘short’ by a major quantity of baryonic matter because they (for the past century) have subscribed to Einstein’s Gravity of Space-time ‘Curvature’, a now-debunked view – debunked by yours truly. See my papers (1 or 6) on Gravity. Scientists fail to realize that the missing matter that they seek ‘is’ all of the space-time fabric of our universe ‘itself’. Wrongly thinking that the force of gravity is a function of space-time ‘Curvature’ whereas two (2) adjacent matter masses each allegedly Warps/Curves their individually surrounding space-time fabric which ‘as adjacently interfaced’ somehow results in a push-together ‘Curvature’ force (from ‘Curvatures’ that ‘in fact’ do not exist) - they’ve made-up Dark Matter to gain the missing Gravity that they seek to balance the scale ‘making sense’ of the ‘viewed’ expansion rate of our universe. They fail to see that the missing matter that they seek is ever-present throughout all the space-time fabric ‘itself’ – that Gravity ‘between’ matter masses is NOT a function of space-time ‘Curvature’ but rather Gravity is a function of space-time fabric ‘itself’ being self-cohesive (self-gravitational). In essence the space-time fabric of self-coherence is both attracted to the protons and neutrons of baryonic matter (or masses of same) forming outward radiating space-time fields that diminish in density at the inverse square of outward distance increase. As these outward radiating fields of matter overlap each other they meld together to become a combined common field of increased space-time density – to become a space-time muscle of increased density, increased self-cohesive strength, increased gravitational ‘pull-together’ strength. The Force of Gravity is manifest ‘between’ given matter masses as per their direct outward radiating space-time field compounded overlap, NOT by way of a fictional ‘Curvature’. Again, for a much clearer understanding and a very precise ‘mathematical’ understanding (my mathematical equations/formulas that incontrovertibly proves what I’m saying), read my website papers – you will be glad you did.

Once all readers understand what I’ve said thus far, it becomes a stark reality that there is no such thing as a ‘Graviton’, the ‘assumed to exist’ particle the scientists believe delivers/enables the force of gravity – what morons they are.

Another thing that will become a stark reality is the ‘Galactic Webbing’ structure that pervades our entire universe. You see, (on a very large scale) aside from the super clusters of galaxies, throughout our entire universe there are much smaller clusters of galaxies (anywhere from dozens to hundreds or more on average), and, between them are stretched out strings of galaxies that look like spider webs connecting these smaller clusters together. The closer to each of these smaller clusters of galaxies that the strings/webs (of stretched-out galaxies) gets, the slightly heavier (more populated with galaxies) the strings/webs become until they connect the clusters. All there is ‘is’ cascading ‘webbing’ connecting cluster to cluster. The moron scientists of our planet are ‘in fact’ totally baffled by this pervasive ‘webbing structure’ throughout our universe BECAUSE THEY THINK that Gravity is a Function of Space-time ‘CURVATURE’ – that Gravity is a Force of Einstein’s ill-chosen Space-time ‘Curvature’ that by way of ‘Curvature’ (Warp) ‘pushes’ matter masses together. When all readers (including the morons of science) read my Papers on the Real Nature, Geometry, and Cause of Gravity it becomes a stark reality that ‘Galactic Webbing’ is a literally ‘unavoidable’ naturally occurring structure. Not only does it become clear as to why/how this structure forms, it becomes clear that this ‘Webbing’ structure must form – given that one Galactic Cluster’s outward radiating Space-time Field of self-coherence (of self-gravitation) overlaps another Galactic Cluster’s outward radiating Space-time Field of self-coherence (of self-gravitation), melding together to become a higher density ‘mutual’ Space-time Field (Space-time muscle) spanning ‘BETWEEN’ said Galactic Clusters. Is it no wonder that individual laterally located ‘straggler’ Galaxies would (over time) merge toward the higher density Space-time muscle spanning ‘between’ said clusters? Enough said. 

If you are scientifically oriented and would like to learn the truth of things about our universe visit my website KettelsonConsulting.com and read my papers, you will be glad you did.
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